Momentum and Collisions

o As the angle between two concurrent
forces decreases, the magnitude of the
force required to produce equilibrium
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A child walks 5.0 meters north, then 4.0
meters east, and finally 2.0 meters south.
What is the magnitude of the resultant

diSpl Tent of the child after the
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e A 0.50-kilograrn object moves in a horizontal
circular path with a radius of 0.25 meter at a
constant speed of 4.0 meters per second.

Which situation will produce the greatest
change of momentum for a 1.0-kilogram
cart?
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second?. What is the car’s speed after it
has traveled 200 meters?

e A se ar kicks a hall-with an initial
vetoeity-¢f 10 melersper-second at an

angle of 30*above the horizontal. The
magnitude of the horizontal component
of the ball's initial velocity is

A 5.0m/s
B 8.7 m/s
C 9.8m/s
D 10.m/s
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J
height of 4.0 meters. What is the speed of
the ball 0.70 second after it is released?

[Neglect friction.]
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A 1.0-Hilog ™ laboratary|car Moving With a
veldciy of 0.56-eled pérsecord-due Eas.collides
with and sticks to a similar cart initially at rest. After
the collision, the two carts move off together with a
velocity of 0.25 meter per second due east. The
total momentum of this frictionless system is

zero before the collision
zero after the collision
the same before and after the collision

greater before the collision than after the
collision
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A 0.50-kilograrn object moves in a horizontal
circular path with a radius of 0.25 meter at a
constant speed of 4.0 meters per second.

Which situation will produce the greatest
change of momentum for a 1.0-kilogram
cart?
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second?. What is the car’s speed after it
has traveled 200 meters?

A5G0

B-62:6m/<

B

D |

A se ar kicks a haw-with an initial @
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angle of 30*above the horizontal. The
magnitude of the horizontal component
of the ball's initial velocity is

A 5.0m/s
B 8.7 m/s
C 9.8m/s
D 10.m/s
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the ball 0.70 second after it is released?
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A 1.0-Hilog ™ laboratary|car Moving With a

veldciy of 0.56-eled pérsecord-due Eas.collides

with and sticks to a similar cart initially at rest. After

the collision, the two carts move off together with a

velocity of 0.25 meter per second due east. The

total momentum of this frictionless system is @

zero before the collision
zero after the collision
the same before and after the collision

greater before the collision than after the
collision
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